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PHILOSOPHY
PAPER-V
LOGIC (WESTERN)

Time Allotted: 2 Hours

1. (a)

(b)

2. (a)
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The figures in the margin indicate full marks.
All symbols are of usual significance.

SECTION-I / f[e9-3 / @ve-&

Answer any one question from the following

forely T 9 BT IR IR
e @-@iw 936 driT Teq wie
FH1 TP APl IR e

What do you mean by ‘distribution of terms’? What terms are distributed in
A, E, I, O propositions? Discuss with examples.

gl P ITIAT W MY R IHIA © ? A, E, I, O yfasifiaa § o9 & ug
AT § ? STERvNfRd =@l BN |

“oltd el F@Tce [ @R 2 A, E, 1, O @2 BIFib 60 (I (&I, 7 G177 o
CGETCMERR (IR

"TE-fIRT W=l & gV ? A, E, 1, O Ufsfaesdl &-& uges faaRkd

B ? IRV @l e |

What is proposition? Classify propositions according to quality and quantity
taken together. Give examples of each.

gfasia fe ®ed & ? 01 IR uRHAT & JHfeld w9 yfdsifeqal &1
farfoTg PINTY | T &7 SR IR |

o FICP AT 9 SUIZATHREANA @l 8 {fasicets Wy fefere Ivcae @il 341
giaafd & 8 ? Ub W fofwR o1 X uReAvLel ufieiiiss  aefiexor
‘Iﬁglﬁl *RIG LA ST ﬁﬁ?{l

Define tautology, self-contradictory and contingent statement forms.
T RIg, S-ITaTd oA ATUTId Bl BT AR BT |
Fose), T ¢ ffEse IHaFIEa FKeEt @)

JTofh, W-ORE 3ferdT AT qedgwhells URATT e |

Full Marks: 50

20x1 =20

4+6=10

2+8=10
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(b)

Use truth table to determine the following statement forms as tautology,
self-contradictory or contingent:

IIA-IRN & "remm | fEfaRad doAl & WdRig, sre-amard ar
uTfad wg # fAf¥ad S :

TR AR Npd DR Fosaerel, Fosfiany Fal sffeaet
foofy w3

A ARG AEFAGRT FFfaRad dedgwals Joih, W-TaRE 3fe@T
TR wUEwH fafed e

@) p>2lp>(¢~9)]
(i) p=[pv(p-9)]
Determine the validity or invalidity of the following arguments by truth table:
AT AR & HeRal 9 Efalad giaadl o dudr Ar Sfderdr @l
IRIRERECAIT I
oA Mg fafeiie Yfewfen et at stare! Ko ¢
A IRV AEdT iR dd fQsudT JRhewdT dodm seEr HeRoT
TR :
1) dv)oU-J)
~(vJ)
~({-J)
(i) UV vWw)
V-w)o~U
(~Uv~W)

What is scientific method of induction and what are its different steps?
Explain with examples.

JMTHA ®1 dsd Ugfa fhd wed g 3R s9a fafa= <A™ Fa-@m g 2

SEIERUTRd URT BIFTU |
RE PR @@ me e & @R ok 97 [fen waef & & 9
TRIZZEHR G 41

e ggfa v @ gite 2 awer it wWRes @9 g1 ?
ISR R TR |

SECTION-II / eial-4 / @vs-@
Answer any fwo questions from the following
frgl a1 ueHl & SR QIR
fwfeiie @-iF 76 etis Tea wis

T g TP SR fager
What is categorical syllogism? Describe the structure of syllogism.
fRUer =mrarag 5 wed & ? ITared &1 AXEdT § ARAT I |
R0 -7 TSl @72 | TS 5 FIG FA)
FRUeT =TTy & 81 ? YRIATRIB] HREA 9o Tl |

4+4=8

4+4=8

3+2+15=20

10x2 =20

2+8=10
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Determine the validity or invalidity of the following arguments with the help
of Venn diagram:

(i) AOO — 3rd Figure
(i) Every artist aims at peace, because they are men and only men aim at
peace.

99 NG & Aregd A F=ferRaa gfaaarl @ Judr a1 srdudr @) Sitg BT

(i) AOO — 3rd Figure

(ii)?;;ﬁ;ﬁfwsﬁﬁiwﬁ%ﬁnﬂw%‘sﬁ?ahaﬁwﬁw%

|

cex focga S fsferie gfesfem el at sitaet fad ¢

(i) AOO —9OR KB«

(i) 2ters Mg NN, Fie ol Mega GR @FIG T2 *NfeF |

doidl JRhewdly W el Ag™ar fouR dedr SieEr saerdr e

IR :

(i) AOO — THT He=THT

(i) TP HATBRe T @re~, b v+ fodiies #1vg g1 o dad
A e e AeTe |

What is conversion? Why ‘O’ proposition cannot be converted?
aRqe fbd wed 8 ? ‘O ufd=if&T &1 qRad= d9g &1 8, @i ?
YRGS FIEEF 0 9 ‘O’ G TS HGI T (e 9

A & 8l ? fb ‘O’ ufdsiitae arad- ww1g o ?

Explain the criteria used in judging the worth of hypothesis.

gidbead] &1 edr vl & forw 59 dFever &1 ganT fdar S ©
I ARAT BT |

/e el JpiEa *Sefe F F o

YT edT GileTells Ugth SITEREwd] ARl T84 |

SECTION-III / [Teial-9t / @ue-r

Answer any five questions from the following:
forsl U yeHl @ SR Iy —

feaferie @-e Afefe eltea Teq wies

H UM YT IR S8 —

What do you mean by ‘opposition of proposition’?
‘fSItadl o1 R | Y FA7 FHd © ?
‘T [eaifger qece & @Rl 9

gfreitiewa! [quell ¥=irel & gfsro ?

5+5=10

4+6=10

10

2x5=10
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(b) Write the two senses of ‘Or’.
T T B QT 37 fIlay |
SR =@ 6 yio oL @12

'3AT DI GgaCl AN el |

(c) What do you mean by ‘individual constant’?
e ReRie fd w8d © ?

‘e Ko <o10e &6 @i 9
AR ReR A=I1el & gD ?

(d) Give the definition of illicit major with examples.
JETERUMNIGT 3dY JrUE QY bl g7y S |
TSR ST AR IS WS |
ITeR™Rd Sfeiffe #HoR'-dl gR9mT Ay |

() Whenis p=gqtrueifp is false?

IfE p I & A I p=¢g FA BN

p = q U ) T4, I p OPT9) T 9

Al p Tadel W9, p=gq Wiﬁ%ﬁ@?
() What does SP =0 mean?

SP =0 &1 3 a1 8 ?

SP=0-aa 9L 9

SP =0-%1 32 & & ?
(g) When is an argument valid?

g AT 9 qeT BT ® ?

U @3 Y& {4 27 9

T3cl YRh Pigel 49 o8B ?

(h) Distinguish between mood and figure of a syllogism.
RMIATR & HR AR ATHT H A DI |
I FRE 8 o7 ey 2NLFy oot 11
g ¥ HU-AEIH! fH=1aT TS89 |

(1) What do you mean by ‘logical analogies’ in argumentation?
ddi § ‘Alfdhd AT I 3T T F981 © ?
oY FeTce [ @RI 9

C N
THAT TMfhs FAFAES ATl & 380 ?

(j) What do you mean by inductive generalization?

JNTHATHS ATATITRRUT | 370 &7 A & ?
SCARIYETF AR S 5 @I 2
JMTHATHS ATEROTHROT =TTl & 350 ?
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